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av—2><13.23+2><(18.13—9.81)+2><(19.6—9.81)=62.68kPa
Uy =, xZ =9.81x4 = 39.24kPa

oh = koo, =0.58x62.68 = 36.35kPa
G, =0, +U, =36.35+39.24 = 75.59kPa
o v =2x1323+2x(18.13)+2x(19.6) = 101.92kPa
2. VB R
wo,=0,=0
Ao, =-101.92kPa Ao}, =—75.5%Pa
AU=B[Ac, + A(AG, — A, )]=1.0x[~75.59+(0.9)x (~101.92 + 75.59)] = ~99.29kPa
S U, = U, + AU =39.24—99.29 = —60.05kPa
)
o' =0, —u, =0 (-60.05) = 60.05Pa
o' =0, —U, =0—(~60.05) = 60.05kPa
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oo =17.3(3)+2(19-9.81) + 3(19.5-9.81) = 99.95 kPa
NC clay
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c = g =5.88cm
1+0.75 99.95
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